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P…h]‰ı 

{…⁄h……»EÚ : 60 
 

 {…Æ˙“I……Ãl…™……Â E‰Ú  ±…B ∫……®……x™…  x…nÊ˘∂… : 
 GENERAL INSTRUCTIONS TO THE EXAMINEES : 
 1. {…Æ˙“I……l…‘ ∫…¥…«|…l…®… +{…x…‰ |…∂x… {…j… {…Æ˙ x……®……ΔEÚ + x…¥……™…«i…:  ±…J…Â* 

  Candidate must write first his / her Roll No. on the question 
paper compulsorily. 

 2. |…∂x… {…j… E‰Ú  Ω˛xn˘“ ¥… +ΔO…‰V…“ ∞¸{……xi…Æ˙ ®…Â  EÚ∫…“ |…EÚ…Æ˙ EÚ“ j…÷ ]ı / +xi…Æ˙ /  ¥…Æ˙…‰v……¶……∫… 
Ω˛…‰x…‰ {…Æ˙  Ω˛xn˘“ ¶……π…… E‰Ú |…∂x… EÚ…‰ ∫…Ω˛“ ®……x…Â* 

 If there is any error / difference / contradiction in Hindi & 
English versions of the question paper, the question of Hindi 
version should be treated valid. 

 3. ∫…¶…“ |…∂x… EÚÆ˙x…‰ + x…¥……™…« ΩÈ˛* |…∂x… GÚ®……ΔEÚ 23 B¥…Δ 24 ®…Â +…xi… Æ˙EÚ  ¥…EÚ±{… ΩĘ̀* 
All the questions are compulsory. Question Nos. 23 and 24 have 
internal choices. 

 4. |…i™…‰EÚ |…∂x… EÚ… =k…Æ˙ n˘“ M…<« =k…Æ˙-{…÷Œ∫i…EÚ… ®…Â Ω˛“  ±…J…Â* 
  Write the answer to each question in the given answer-book only. 
 5.  V…∫… |…∂x… E‰Ú BEÚ ∫…‰ + v…EÚ ∫…®……x… +ΔEÚ¥……±…‰ ¶……M… ΩÈ˛, =x… ∫…¶…“ ¶……M……Â EÚ… Ω˛±… BEÚ 

∫……l… ∫…i…i…¬  ±…J…Â* 
  For questions having more than one part carrying similar marks, 

the answers of those parts are to be written together in 
continuity. 
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 6. |…∂x… GÚ®……ΔEÚ 2 ∫…‰ 5 i…EÚ + i… ±…P…⁄k…Æ˙…i®…EÚ ΩĘ̀* 
  Question Nos. 2 to 5 are Very Short Answer Type. 

 7. |…∂x… GÚ®……ΔEÚ 1 E‰Ú S……Æ˙ ¶……M… ( i, ii, iii i…l…… iv) ΩÈ˛* |…i™…‰EÚ ¶……M… E‰Ú =k…Æ˙ E‰Ú S……Æ˙ 

 ¥…EÚ±{… (+, §…, ∫… B¥…Δ n˘ ) ΩĘ̀* ∫…Ω˛“  ¥…EÚ±{… EÚ… =k…Æ˙…I…Æ˙ =k…Æ˙-{…÷Œ∫i…EÚ… ®…Â 

 x…®x……x…÷∫……Æ˙ i…… ±…EÚ… §…x……EÚÆ˙  ±…J…Â : 

 There are four parts ( i, ii, iii and iv ) in Question No. 1. Each part 

has four alternatives A, B, C and D. Write the letter of the correct 

alternative in the answer-book at a place by making a table as 

mentioned below : 

 |…∂x… GÚ®……ΔEÚ 

Question No. 

∫…Ω˛“ =k…Æ˙ EÚ… GÚ®……I…Æ˙ 

Correct letter of 
the Answer 

 

 1. (i)    

 1. (ii)   

 1. (iii)   

 1. (iv)   

 
1. (i) §…g¯i…“ Ω÷̨<« ∫…“®……xi… |… i…∫l……{…x… EÚ“ n˘Æ˙ EÚ“ Œ∫l… i… ®…Â i…]ı∫l…i…… ¥…GÚ EÚ… +…EÚ…Æ˙  EÚ∫… 

∞¸{… EÚ… Ω˛…‰M…… ? 

  (+) BEÚ I…Ë i…V…“™… Æ‰˙J…… (§…) =z…i……‰n˘Æ˙ ¥…GÚ 

  (∫…) x…i……‰n˘Æ˙ ¥…GÚ (n˘) BEÚ >v¥……«v…Æ˙ Æ‰̇J……* 

 What will be the shape of indifference curve in the situation of 

increasing marginal rate of substitution ? 

  (A) A horizontal line (B) Convex curve 

  (C) Concave curve (D) A vertical line. 1
2   
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 (ii) BEÚ Æ˙…∫……™… x…EÚ EÚ…Æ˙J……x…‰ u˘…Æ˙… +{…x…“ M…xn˘M…“ EÚ…‰ x…n˘“ ®…Â UÙ…‰c˜x……, =n˘…Ω˛Æ˙h… ΩË˛ 

  (+) +…Ãl…EÚ ±……M…i… (§…) ∫……®…… V…EÚ ±……M…i… 

  (∫…) ∫{…π]ı ±……M…i… (n˘) +¥…∫…Æ˙ ±……M…i…* 

  A chemical factory disposes its waste in a river, is an example of 
  (A) economic cost (B) social cost 

  (C) explicit cost (D) opportunity cost. 1
2   

(iii) ™…⁄0 Bx…0 b˜“0 {…“0 +®…i™…« ∫…‰x… E‰Ú  x…v…«x…i…… ∫…⁄S…EÚ…ΔEÚ EÚ…  EÚ∫… =q‰̆∂™… E‰Ú  ±…B |…™……‰M… 

EÚÆ˙i…“ ΩĘ̈ ? 

  (+)  x…v…«x…i…… ∫…⁄S…EÚ…ΔEÚ (§…) §…‰Æ˙…‰V…M……Æ˙“ ∫…⁄S…EÚ…ΔEÚ 

  (∫…) ∫……®…… V…EÚ x™……™… ∫…⁄S…EÚ…ΔEÚ (n˘) ®……x…¥…“™…  ¥…EÚ…∫… ∫…⁄S…EÚ…ΔEÚ* 

 For what purpose does U.N.D.P. use Amartya Sen’s Poverty 
Index ? 

  (A) Poverty Index  
  (B) Unemployment Index 
  (C) Social Justice Index  

  (D) Human Development Index.  1
2   

 (iv) ®…Ω˛…i®…… M……ƒv…“ u˘…Æ˙… EÚ…Ëx…-∫…“ {…÷∫i…EÚ  ±…J…“ M…<« ΩË˛ ? 

  (+) +l…«∂……∫j… (§…) °Ú…=xb‰̃∂…x∫… +…Ï°Ú <EÚ…Ïx……‰ ®…C∫… 

  (∫…)  Ω˛xn˘ ∫¥…Æ˙…V… (n˘) <EÚ…Ïx……‰ ®…C∫… +…Ï°Ú O……‰l…* 

  Which book is written by Mahatma Gandhi ? 

  (A) Arthashastra  

  (B) Foundations of Economics 

  (C) Hind Swaraj 

  (D) Economics of Growth.   1
2   



 4 

SS—10–1—Econ. I .SS–510. 

2. =i{……n˘x… °Ú±…x… EÚ“ {… Æ˙¶……π……  ±… J…B*  

 Write the definition of production function.  1 

3. =i{……n˘x… §…xn˘ EÚÆ˙x…‰ EÚ…  §…xn÷˘ C™…… ΩË˛ ?  

 What is production shut-down point ? 1 

4. ∫…“®……xi… ¶……Ë i…EÚ =i{……n˘EÚi…… EÚ… +l…« §…i……<B*  

 State the meaning of marginal physical productivity.  1 

5. ∫…‰x… E‰Ú  x…v…«x…i…… ∫…⁄S…EÚ…ΔEÚ EÚ… ∫…⁄j…  ±… J…B*  

 Write the formula of Sen’s Poverty Index. 1 

6. ∫…®…-∫…“®……xi… ={…™……‰ M…i……  x…™…®… E‰Ú EÚ…‰<« i…“x… ={…™……‰M… §…i……<B*  

 State any three uses of the law of equimarginal utility. 

       12  + 12  + 12  = 11
2   

7. BEÚ ¥…∫i…÷ EÚ“ ®……ΔM… EÚ…‰ |…¶…… ¥…i… EÚÆ˙x…‰ ¥……±…‰  EÚxΩ˛” i…“x… i…i¥……Â EÚ…‰ ∫{…π]ı EÚ“ V…B*  

 Explain any three factors affecting the demand of a commodity.  

1
2  + 12  + 12  = 11

2   

8. {…⁄Ãi… ®…Â ∫…ΔE÷ÚS…x… EÚ…‰ BEÚ ∫…ΔJ™……i®…EÚ =n˘…Ω˛Æ˙h… u˘…Æ˙… ∫{…π]ı EÚ“ V…B*  

 Explain contraction in supply with the help of a numerical example. 11
2   

9. =i{……n˘x… °Ú±…x… EÚ“ EÚ…‰<« i…“x…  ¥…∂…‰π…i……Bƒ  ±… J…B*  

 Write any three characteristics of a production function.   

    12  + 12  + 12  = 11
2   



 5  

SS—10–1—Econ. I .SS–510. [ Turn over 

10. +…xi… Æ˙EÚ B¥…Δ §……¡ §…S…i……Â ®…Â +xi…Æ˙ §…i……<B*  

 Differentiate between internal and external economies.  11
2   

11. ∫{…π]ı ±……M…i… E‰Ú EÚ…‰<« n˘…‰ =n˘…Ω˛Æ˙h… n˘“ V…B*  

 Give any two examples of explicit cost. 
2
11

4
3

4
3

=+  

12. ®…‰Ω˛i…… E‰Ú +x…÷∫……Æ˙ S…‰i…x… +…¥…∂™…EÚi…… EÚ“ +¥…v……Æ˙h…… EÚ…‰ §…i……<B*  

 State the concept of conscious wants according to Mehta.  11
2   

13. ""M……ƒv…“V…“ E‰Ú ]≈ı∫]ı“ ∂…{…  ∫…r˘…xi… EÚ“ V…c˜ ®…Â +…Ãl…EÚ ∫…®……x…i…… EÚ“ +¥…v……Æ˙h……  x… Ω˛i… ΩĘ̈*''    

<∫… EÚl…x… E‰Ú {…I… ®…Â EÚ…‰<« n˘…‰ i…E«Ú n˘“ V…B*  

 “The concept of economical equality lies at the root of Gandhiji’s 

trusteeship principle.” Give any two arguments in favour of this 

statement. 

   
2
11

4
3

4
3

=+  

14. ¥™…Œπ]ı i…l…… ∫…®…Œπ]ı +l…«∂……∫j… E‰Ú ®…v™… EÚ…‰<« i…“x… +xi…Æ˙ §…i……<B*  

 Give any three differences between micro- and macro-economics.  

   1 + 1 + 1 = 3 

15. ®……ΔM… EÚ“ ±……‰S… E‰Ú i…“x… |…EÚ…Æ˙…Â EÚ… +l…«  ±… J…B*  

 Write the meaning of three types of elasticity of demand.  1 + 1 + 1 = 3 

16. ®……ΔM… ¥…GÚ E‰Ú x…“S…‰ EÚ“ +…‰Æ˙ f¯…±…⁄ Ω˛…‰x…‰ E‰Ú EÚ…Æ˙h… ∫…®…Z……<B*  

 Explain the reasons for downward sloping of demand curve.   

   1 + 1 + 1 = 3 
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17. ™… n˘ BEÚ ={…¶……‰HÚ… EÚ“ +…™… 200 Ø˚0 ∫…‰ §…g¯EÚÆ˙ 300 Ø˚0 Ω˛…‰ V……i…“ ΩË˛ +…ËÆ˙ =∫…EÚ“ ¥…∫i…÷ EÚ“ 

®……ΔM… 20 <EÚ…<™……Â ∫…‰ §…g¯EÚÆ˙ 30 <EÚ…<™……ƒ Ω˛…‰ V……i…“ ΩË˛, i……‰ ®……ΔM… EÚ“ +…™… ±……‰S… EÚ“ M…h…x…… 

EÚ“ V…B*  

 If a consumer’s income is increased from Rs. 200 to Rs. 300 and his 

demand for a commodity is increased from 20 units to 30 units, 

calculate the income elasticity of demand.  3 

18. ∫…®……‰i{… k… ¥…GÚ B¥…Δ ∫…®…-±……M…i… Æ‰̇J…… EÚ“ ∫…Ω˛…™…i…… ∫…‰ =i{……n˘x… E‰Ú ∫……v…x……Â EÚ… <π]ıi…®… ∫…Δ™……‰M… EÚ… 

 x…v……«Æ˙h… EÚ“ V…B*  

 Determine the optimum combination of factors of production with the 

help of iso-quant curve and iso-cost line. 2 + 1 = 3 

19. +{…⁄h…« |… i…™……‰M…“ §……V……Æ˙ EÚ“ EÚ…‰<« i…“x…  ¥…∂…‰π…i……Bƒ §…i……<B*  

 State any three characteristics of imperfect competitive market.   

   1 + 1 + 1 = 3 

20. ""±……¶… x…¥… |…¥…i…«x… EÚ… EÚ…Æ˙h… B¥…Δ {… Æ˙h……®… n˘…‰x……Â ΩË˛*'' ∫{…π]ı EÚ“ V…B*  

 “Profit is cause as well as result of innovation.” Explain. 3 

21. EÚ…Ë ]ı±™… u˘…Æ˙… ¥…Ãh…i… ®…V…n⁄˘Æ˙ EÚ±™……h…EÚ…Æ˙“ ™……‰V…x……+…Â EÚ…‰  ±… J…B*  

 Write the labour welfare schemes described by Kautilya. 1 + 1 + 1 = 3  

22. i…]ı∫l…i…… ¥…GÚ  ¥…∂±…‰π…h… E‰Ú +…v……Æ˙ {…Æ˙ ={…¶……‰HÚ…-∫…xi…÷±…x… EÚ…‰ ∫{…π]ı EÚ“ V…B*  

 Explain the consumer-equilibrium on the basis of indifference curve 

analysis. 41
2  + 11

2  = 6  
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23. ∫…®…÷ S…i…  S…j……Â EÚ“ ∫…Ω˛…™…i…… ∫…‰ {…⁄h…« |… i…™……‰ M…i…… E‰Ú +xi…M…«i… EÚ“®…i…  x…v……«Æ˙h… ®…Â ∫…®…™… i…i¥… EÚ“ 

®…Ω˛k…… EÚ…‰ ∫{…π]ı EÚ“ V…B* 

+l…¥…… 

 BEÚ… v…EÚ…Æ˙…i®…EÚ |… i…™……‰ M…i…… ®…Â °Ú®…« E‰Ú +±{…EÚ…±…“x… B¥…Δ n˘“P…«EÚ…±…“x… ∫……®™… EÚ…‰  S…j……Â EÚ“ 

∫…Ω˛…™…i…… ∫…‰ ∫{…π]ı EÚ“ V…B*  

 Explain the importance of time element in the price determination 

under perfect competition with the help of suitable diagrams. 4 + 2 = 6  

OR 

 Explain the short-run and long-run equilibrium of a firm under 

monopolistic competition with the help of diagrams. 4 + 2 = 6 

24. §™……V… E‰Ú i…Æ˙±…i…… {…∫…xn˘M…“  ∫…r˘…xi… EÚ…‰  S…j……Â EÚ“ ∫…Ω˛…™…i…… ∫…‰ ∫{…π]ı EÚ“ V…B* 

+l…¥…… 

 ±…M……x… E‰Ú +…v…÷ x…EÚ  ∫…r˘…xi… EÚ…‰  S…j……Â EÚ“ ∫…Ω˛…™…i…… ∫…‰ ¥™……J™…… EÚ“ V…B*  

 Explain the liquidity preference theory of interest with the help of 

diagrams. 41
2  + 11

2  = 6  

OR 

 Discuss the modern theory of rent with the help of diagrams. 

   41
2  + 11

2  = 6  

    


